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• Please check that this question paper contains 34 questions. 
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fi €fl fM H 'Qftan-II 

SUMMATIVE ASSESSMENT -II 
~I NIH 

MATHEMATICS 
R-mmr wm : 3 f1TlZ 1 
Time allowed: 3 hours 1 

[ 31['~ a:icn: 80 

[Maximum marks: 80 

R/41"'4~: 

I. ~ >rH 31Rt:w[ ff t 
2. ~ >rH-rr;r if 34 >rH ff "it :qp; "lSfUif 31, ~' tr Jik -q if ~ g I 
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3. lSJUg 31 if~-~ aict;-~ 10 >TR 'g, ~ ~-f¥1l0!1 m g JlS[Ug ~if s 
m g mif ~ ~ 2 aicf;- CFT ~I uug t1 if 10 m ift;r -ift;r 3icif it g I 
uug "if if 6 m g ~ ~ >rritcn 4 Jicn Cfil ~ 1 

4. ~ m-ra if q:;f{f¥n2'4 ~ ~1-wfir 2 Jicn ~ ~m if, J 3icn ~ 

"fft;r >INt if 02TT 4 *" ~ ~ >rRt if 311 '"f1 n CfJ f¥n01 .&r ~ g 1 

5. 4iC11J~2{ CFT wWr qf5fu- ~I 

General Instructions: 

I. All questions are compulso!)'. 

2. 11w question paper consists of 34 questions divided into four 

sections A, B, C and D. 

3. Section A contains 10 questions of 1 mark each, which are multiple 

choice type questions, Section B contains 8 questions of 2 marks 

each, Section C containslO questions of3 marks each and Section D 

contains 6 questions of 4 marks each. 

4. There is no overall choice in the paper. However, internal choice is 

provided in one question of 2 marks, three questions of 3 marks and 

two questions of 4 marks. 

5. Use of calculators is not permitted. 

~3{ 

SECTION A 

m fi&rr 1 ~ 10 Qcfi ~ m 1 aicf;- CFT g I R m if~ m it fWl: -:qp: f¥1l01 i?rz 
~g, mif~~~"flitg! "fftr!CJ2fl01 ~I 

Question numbers 1 to 10 canT I mark each. For each of these questions four 

alternative choices have been provided, of which only one is correct. Select the 

correct choice. 

1. ·~rnt {"li{]Cfl{Ufl ay2 + ay + 3 = 0 d"m y 2 + J" + b = 0 CfiT ~ ~ 1 t m. ab ~ i : 

(A) 3 

(C) 6 

301111 

(B) 

(D) 

2 

7 

2 
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2. 

If 1 is a root of the equations ay2 + ay + 3 = 0 and y1 + y + b = 0, then ab 

equals: 

7 
(A) 3 (B) 

2 

(C) 6 (D)- -3 

>r~ 20 fflq-q ~ ~~ Gf)l4>1JIQ;<.1 ~: 

(A) 100 (B) 210 

(C) 400 (D) 420 

The sum of first 20 odd natural numbers is : 

(A) 100 

(C) 400 

(B) 210 

(D) 420 

3. ~ 1 it,~ ABCc€l ~AB, BC<l~ CA ~TfciTSii1rn: ~ P, Q<l'm R 

lR ~ Cfi«ft -8 I ~ P A = 4 ittft, BP = 3 ittft <l~ AC = 11 W:ft ~ eft BC c€l 

301111 

~ (ittft if)~ : 

(A) 11 

(B) 10 

(C) 14 B c 
(D) 15 

In Fig. I, the sides AB, BC and CA of a triangle ABC, touch a circle at P, 

Q and R respectively. If PA = 4 em, BP = 3 em and AC = 11 em, then the 

length ofBC (in em) is : 

(A) 11 

(B) 10 

(C) 14 

(D) 15 

3 

Fig. 1 
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,. 

4. ~ 2 .q, ~ ~ L\ EDF "&'a 1j'lll DF q;) H ~ m ~% ~ 1j'lllW ED~ 

EFcnl~~~: Kd"m M~m~il ~ EK= 9itlfti, m ~ EDFCfil 

(A) 18 

(B) 13.5 

(C) 12 

(D) 9 

E 

~2 

In Fig 2, a circle touches the side DF of~ EDF at H and touches ED and 

EF produced at K and M respectively. If EK = 9 em, then the perimeter of 

~ EDF (in em) is: 

(A) 18 

(B) 13.5 

(C) 12 

(D) 9 
Fig. 2 

5. ~ fcnm d~~JI~ ~ * 3llt:TR c€t ~ cnT 3lTQT CR ~ ~~ ~ ~ «<ft 
~, m ~ >rCfiR >rft{f ~ * 3lm(R ~ ~ ~ * 3lm(R .q ~ t = 

30/1/I 

(A) 1 :2 

(C) 1 : 4 

(B) 2: 1 

(D) 4: 1 

If the radius of the base of a right circular cylinder is halved, keeping the 

height the same, then the ratio of the volume of the cylinder thus obtained 

to the volume of original cylinder is : 

(A) I : 2 

(C) I : 4 

(B) 2: 1 

(D) 4: 1 

4 
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6. -~ ~¥Cfil ~ 10 W:tT a~ 24 ~ e<mf~ m-~ ~ ~~q;~l ~ mrr~ 

~t m~¥Cfile<mf (~it)~= 

(A) 34 

(C) 17 

(B) 26 

(D) 14 

If the area of a circle is equal to sum of the areas of two circles of 

diameters 10 em and 24 em, then the diameter of the larger circle (in em) 

lS : 

(A) 34 

(C) 17 

(B) 26 

(D) 14 

7. ~1fr.m:~~ W4tR~rnm~~, lfRR~~Cfil J3- ~t m~ 

Cfil ~ Cfi)ur ~ : 

The length of shadow of a tower on the plane ground is J3 times the 

height of the tower_ The angle of elevation of sun is : 

(A) 45° 

(B) 30° 

(C) 60° 

(D) 90° 

s. ~ ~ ¥ ~ ~ Olffil ~ ~ fut ~ f.:l~~Jiq:; (2, 3) ~ crm ~ ~ ~ f?l~~tiCll 

(- 2, 5) t crtWC<ffif~Wfut~ R~~tiq:;~: 

30/ 111 

(A) (-6, 7) 

(C) (6, 7) 

(B) (6, -7) 

(D) (-6, -7) 

5 [P.T.O. 
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If the coordinates of one end of a diameter of a circle are (2, 3) and the 

coordinates of its centre are (-2, 5), then the coordinates of the other end of 

the diameter are : 

(A) (-6, 7) 

(B) (6, -7) 

(C) (6, 7) 

(D) (-6, -7) 

9. ~ P "i'f ~3it A(l, 3) ~~ B(4, 6) cnl ~ ~ lJ§II@Us cnl 2 : 1 ~~it 

fcl~~t ~ Pt<!(li<:f)%: 

30/ l/1 

(A) (2, 4) 

(B) (3, 5) 

(C) (4,2) 

(D) (5, 3) 

The coordinates of the point P dividing the line segment joining the points 

A(l, 3) and B( 4, 6) in the ratio 2 : 1 are: 

(A) (2, 4) 

(B) (3, 5) 

(C) (4, 2) 

(D) (5, 3) 

(A) 
1 

2 

1 
_(C) 6 

1 
(B) J 

1 
(D) 

12 

6 
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Two dice are thrown together. The probability of getting the same number 

on both dice is : 

l 
(A) 2 

(C) 
6 

(B) 

(D) 

1 

3 

1 

12 

~~ 

SECTION B 

Question numbers 1 I to 18 cany 2 marks each. 

Find the value(s) of k so that the quadratic equation x2
- 4kx + k = 0 has 

equal roots. 

Find the sum of all three digit natural numbers , which are multiples of 11. 

13. ~ 3 it. ~Cf®~ PU~ O~it~~' fucfiT ~'i'41~ 8 umCJm 

5 -wfi i, 11{ ~ mnt PA cr4T PB ~ lT{ ~I~ AP = 15 -wfi tit BP c€1" 

· ~~~~ 

p 

~3 

30/ 111 7 [P.T.O. 
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Tangents P A and PB are drawn from an external point P _to two concentric 

circles with centre 0 and radii 8 cin and 5 em respectively, as shown in 

Fig. 3. If AP = 15 ern, then find the length of BP. 

p 

Fig. 3 

14. ~ 4 ~' ~ ~~fucill§ 8. ABC, ftm'il AB =ACt,~ Cff ~ -qftrm ~I fiRI 

ctl fcilt:t f<fi ~ ~ P 31Ttm: BC CfiT ~ ~ ~ I 

30/111 

p 

~4 

~ 5 if, Gl~'[ffi, ~~ 0~, itif~CffcFtmcn AB, ~Cffcit 

~ C"Q"{m~~l ~ <tlfcilt:tf<fi AC = CB. 

. 8 
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15. 

30/1/1 

In fig. 4, an isosceles triangle ABC, with AB = AC, circumscribes a circle. 

Prove that the point of contact P bisects the base BC. 

p 

Fig. 4 

OR 

In Fig. 5, the chord AB of the larger of the two concentric circles, with 

centre 0, touches the smaller circle at C. Prove that AC = CB. 

Fig. 5 

1 
The volume of a hemisphere is 2425- cm3

. Find its curved surface area. 
2 . 

22 
[Usen= -J 

7 
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16. • 6 it, OABC l:!!fi CflT ~ f;;j~~ ~ 7 Wfi% l OAPC ~ 0 ~ ~ Cfil 

~2lWr% I ~1;qifcfi<1 ~ Cf)f ~~~I [1r = 
22 ~] 
7 

C B 

.6 
In Fig. 6, OABC is a square of side 7 em. If OAPC is a quadrant of a circle 

. . 22 
w1th centre 0, then find the area of the shaded regwn. [Use 1r =~] 

7 
C B 

0 A 
Fig. 6 

17. -;qfu l:!!fi ~ A(O, 2) ~3-11 B(3, p) CJm C(p, 5) it ~'4%, m p Cf)f lfR" ~ 

~~ 

If a point A(O, 2) is equidistant from the points 8(3, p) and C(p, 5), then 

find the value of p. 

. 18. >J~ 50~ ~3-11 it '£ll~"t;~;q1 ~ ~ -=¥t ~I Sllf4i:hC11 ~ ~ 1$ ~ 

U&.rr 3 3fn: 4 Cf1T ~ ~ I 

A number is selected at random from first 50 natural numbers. Find the 

probability that it is a multiple of 3 and 4. 

30/1/l 10 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



~~ 

Sl~CTION C 

Question nwnbers 19 to 28 cany 3 marks each. 

- " ~fut 2 2 2 19. -'"~~~ I ~:4x -4a.-r+(a -b )=0 

3Jw:n 

.rill~~ ~fut~: 3x2
- 2J6x + 2 = 0 

2 2. b2) Solve for x : 4x - 4ax + (a - = 0 

OR 

Solve for x: 3x2
- 2J6x + 2 = 0 

~ ~fut~ fcfi Vi it 11ftrRf ~ ~~ cfi ~ ~ ~ l:R ~ c@ur 3Tirfuf 

~.gl 

Prove that the parallelogram circumscribing a circle is a rhombus. 

OR 

Prove that opposite sides of a quadrilateral circumscribing a circle subtend 

supplementary angles at the centre of the circle. 

21. ~ B4<hlal-~ cfi ~ ~' futwfi) ~ (CfiUf it 3iRtlt<ta) 6 in:ft am s 

inn Baft m I ~ ~ ~ -&~ cfi ~ ~ futwfi) ~ fuQ: ~ ~ cfi 'Wrn 

:rnm *r ~ Tfi it 1 
5 

30 1 1 11 [P.T.O. 
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Construct a right triangle in which the sides, (other than the hypotenuse) are 

of length 6 em and 8 em. Then construct another triangle, whose sides are 

3 
- times the corresponding sides of the given triangle. 
5 

22. ~ 7 it, PQ (fm AB ~ o (fm ~: ~m 7 W:ft (fm 3.5 W:ft ~it 

~~ctt~61~ LPOQ =3oct, it~lllii?bCl ~~ ~Wcf~l 

22 
[n=-~] 

7 
p 

Q 

In Fig. 7, PQ and AB arc respectively the arcs of two concentric circles of 

radii 7 em and 3.5 em and centre 0. If L. POQ = 30°, then find the area of 

the shaded region. [Use 1t"= 
22

] 
7 

Fig. 7 

p 

Q 

23. 7 W:ft ~ (fm 12 W:ft 3=\Tm\ ~ O!J;R1 ~ ~om-~ it ~ ~ ~ ~ ~ 

O!ffi1 Cflc'lT ~ ~j<tqiCflR ~ CHG fum >mill %I ~ ~ om-~ ~ ~ ~ 
22 

Wcf~\ [n=-~J 
7 

30/1/1 12 
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3 2 Wft ~ 3fR 18 Wft 3lTtrn: ~ ~ 't:tCfi ~k"H ICfll\ ~ Tir ~ \ffi ~ ~ I ~ 

~ ~ ~ q{ ~ fct;m ~ ~ ~~to~ 't:tCfi ~jqq ICfll{ ~ ~ \iiT<ft ~I 

~ sjqq(Cfll( ~ ~ ~ 24 Wft t m w ~ ~ ~ 3-TR ~ ~ ~ 

~I 

From a solid cylinder of height 7 em and base diameter 12 em, a conical 

cavity of same height and same base diameter is hollowed out. Find the 

22 
total surface area of the remaining solid. [Use n = -] 

7 

OR 

A cylindrical bucket, 32 em high and with radius of base 18 em, is filled 

with sand. This bucket is emptied on the ground and a conical heap of sand 

is formed. If the height of the conical heap is 24 em, then find the radius 

and slant height of the heap. 

14. ~ (11~2613B ~ ~ ~' ~ tt mn "ij ~ Gl ~ ~ ~ "CflluT 45° om 

30°~~~~~~~~200lfit, ol(11~2~13B~~m<f~l 

,. 
-::l . 

30/1/ 1 

The angles of depression of two ships from the top of a light house and on 

the same side of it arc found to be 45° and 30°. If the ships are 200 rn apart, 

find the height of the light house. 

AP K 
~~fch -=-~I~~ POO x+ y = 0q{~m, a) K ~"IfRm<J 

PI3 1 • 

~I 

13 [P.T.O. 
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A point P divides the line segment joining the points A(3, -5) and B(--4, 8) 

such that AP = K . If P lies on the line x + y = 0, then find the value of K. 
PB 1 

26. "lffu M-fi~ ~ ~~ (1, -3), (4,p) d'm (-9, 7) ~ (lm ~ ~ 15 crrf 

~imp~lfR~~~ 

If the vertices of a triangle are ( 1, -3), ( 4, p) and ( -9, 7) and its area is 

15 sq. units, find the value(s) ofp. 

21. ~~ir, 1oo ~~~ Cfilt, zoo~ ~~m d'm so~·~~ CflTt ~~ 

~it it 4!1'1ij~l ~ CflTt RCflk111Wf 1 91~Cflai ~ ~ fcn RCfll;t ~ CflTt "CflT 

~ (i) ;fRr ~ (ii) 1fu1T ~~(iii)~~ i 3ft\~ tt ;fu;rr I 

A box contains 100 red cards, 200 yellow cards and 50 blue cards. If a card 

is drawn at random from the box, then find the probability that it will be 

(i) a blue card (ii) not a yellow card (iii) neither yellow nor a blue card. · 

28. ~ BiffiR ~ "CflT 1 7 cri 1:R ~ 3llFcf 1:R ~ ~ it 5 3lftlCfl '% Pl~ ~ ~ "CflT 

11 cri~ 43 ~.<it~ n crf'I:R~~I 

The 17th term of an AP is 5 more than twice its 8th term. If the 11th term 

ofthe AP is 43, then find its nth term. 

~~ 

SECTION D 

>~Nfi'&n 29 # 34 (fef;~JlN~ 4 3Tcng, 
Question numbers 29 to 34 cany 4 marks each. 

29. ~ ~Cfll'"l G R ~ 80 lt '¥§ ~ @ft Gd I i I "lffu ~ W 1Jfu 'ij 4 ~ 3lftlCfl ~ 

mm m ~ ~ ~ C1'Tlffi ~ ~ Cfiif m-m 1 ~ ~ fcn ~Cfll'"lGI{ ~ ~ 

~~I 

30/lll 14 
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A shopkeeper buys some books for ~ 80. If he had bought 4 more books 

for the same amount, each book would have cost ~ 1 less. Find the number 

of books he bought. 

OR 

I 
The sum of two numbers is 9 and the sum of their reciprocals IS 

2 

Find the numbers. 

30. ~~mtl~>r~ t4WCfilmrr tsos~om~>r~'q'G to~l~mtTCfiT 
2 5 cri 'qG -ma ;:fiH~ l!> I 

Sum of the first 14 tenns of an AP is 1505 and its first tennis 10. Find its 

25th term.· 

31. m& cft1~Q>fcf1¥if1~~~~~-mf~, ~~-a~crrffi~'CR 
~~~I 

30/1/1 

~~ 

~¥it 1:fftrrn ~ ~~ ABCD ~ TFn ~I~ c€1N1~ fcfi 

AB + CD= AD+ BC. 

Prove that the tangent at any point of a circle is perpendicular to t4e radius 

through the point of contact. 

OR 

A quadrilateral ABCD is drawn to circumscribe a circle. Prove that 

AB + CD= AD + BC. 

15 [P.T.O. 
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32. ~ irn, ~~ 1R ~L!11Ufqd ~ ~ ~ ~ q)[ t ~ m::rt ~ 3llm\ eft 

~ 3.5 -@ft ~ (fm iffieft "¥f ~ 9.5 -@ft~ I~ q)[ -3WrcR ~~I 

22 
[n = -~] I 

7 

A solid is in the shape of a cone surmounted on a hemisphere, the radius of 

each of them being 3.5 em and the total height of solid is 9.5 em. Find the 

22 
volume of the solid. [Use n = - ] . 

7 

33. ~ arrW ~ ~ ~ hl"f<:fl ~ ~eft i, ~ 28 .49 ~ -q-r;ft 3ll ~ t I 
~ ~ c"{dl<:fll{ mit eft 81\illl~ 28 *'fi (f~ 21 *'fi m, m ~eft~~ 
-:Aem 22 "~ 
'flll"l'-;.1 [n=- (."11 ~] 

7 

A bucket is in the form of a frustum of a cone and it can hold 28.49litres of 

water. If the radii of its circular ends are 28 em and 21 em, find the height 

22 
of the bucket. [Use n = - ]. 

7 

34. ~ ~ eft tiTtt Cfi1 ~ ~ ~ -q"R it ~ CfiTar 60° ~ (f~ tft;m ~ ~ it 

~~111Gq)[ ~Cfilur 30°%1 ~tft;m~~ solfrmm~c€1~ 

~chl~C(I 

30/ 111 

The angle of elevation of the top of a hill at the foot of a tower is 60° and 

the angle of depression from the top of the tower of the foot of the hill is 

30°. If the tower is 50 m high, find the height of the hill. 

16 
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